N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

9] F 1%} 4] F 0
< F ' 3 ' s : : 3
£ 10°%F - £ | : : g
; : s o 10°F" H e @
3 2 s F : : g
10*F [ 5 ]
E : 10°F - ]
1wk .
b : 102~
102 E_ ------------- E
b 10k
E bt O L
o -9 v v g 7LII || Tt
3 E.ooi... . DOM] |><e PEt“?]%Dﬁ ‘staepg i
24 ] . T T T
--------- 1.5] - 05 ehenndinlh
------ B S S . o N N N N 1 N N N N N N N
=20 15 -10 -5 0 10 15 20 —ZO 15 -10 -5 10 15 20 =20 -15-10 -5 0 5 10 15 20 -20 -15 -10 -5 O 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 M L F ¢
8 sl & B F}
510 s s =
[} [} 104 Q
2 3 8
10* g
10° 3
10° Eoo
102k - - - . ..... | R U
10? E
10f- -+ de oo
1L S i
o o g )
3 s 3
14 o 14
0.8
] ; : i ' : i 0.9 : : 1 ! :
85 20 -10 0 10 20 30 80 20 -10 0 10 20 30 -30 30 -30 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


